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Point1 RiZEAL\DRIR
@ <as Bk as > MEFJULLIBN~IZ, |
[tEE&]  Heis old. — He is as old as John.(F¥553)
He runs fast. — He runs as fast as John.(&l53)
@ <notas BRfkas > M FE~ZLN,

[{511] She is not as tall as he is.

Point2 thERihZERL DRI
@ <LL&#R than - KD~ |
[LEEZ] He is older than Bob.
He runs faster than Bob,

@ <{much Ltk than-> KD FoE~TZ, |
— 58258 UIZ U \EEEHRDBTIC much Z28<,
[f51] My watch is much better than yours.
X EEERODSESRIC very [FE107R0),

Point3 &RELRZAI\DRIT
D the ®EfRin(of) - - DPTRE~Z]
[LEER]  He is the oldest in his family. (f2553)
He runs the fastest of the three.(8153)
X BEINERLRICIE the ZDIIRINCEEDHD.

@ in & of MFEL\DIF
«iN BT « BIEZEKRIEE — in his class, my family, in Japan 72&,
c of BRNBERTIE — of the five, of us all, of all the boys I2&,

Point4  LEEHR « &R EROIEDTS
@ REIZAL
 LEERER - RIRIC-er ZDIF D,
« LR - BRIRIC-est ZDIT B,

@ FRAZEE

FiR LEEHR =LER FiR LEEHR = R
good better best AL 0 more most

well much

bad little less least

iﬂ worse worst
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